September-2020
B.Com., Sem.-VI
CC-310 : Statistics — V1

Time : 2 Hours)

CMAW: Section — I3t {1311 AR 2] AFUSL AL svetiet 2ANL.

Section — I
Lo (A) gsiaail:

(D) R-ay Rigic
(iii) el [%u;[q

(B) . s gl sz Bud T 6 © d-l d2usl B
T4 HLURA SRS AL 8. q%g;ﬂ 'aust

WL 20 21
AL \
¢t EMV 2l Q

2. (A) Wy

10

50U Y254l
ol 2N 5 WU Dy

(B) 1000 4l 1500 $&-4 A (ALl U2 Heusll Bl 2445 67.5” 247 68" B, 2L i
[Reall oo 3ulBict [Pttt 2.5 Sl Al el Qe vt D A sl st ? 10

3. (A) () wadl Rigid 242 3 ? d-l areull vepdl. ' 10

(i) el Rigictil A48 Rigic Ao,

SK-101 | | | 1 P.T.O.



(B) ARl 3al G A = -
WalslB

Bl BE Bs B4

A, 2 2 4 1

A, 6 1 12 3
wWaislA L

Aj —3 2 0 6

Ay 2 5 T 1

4. (A) AR uE Gerergl Al 203mell :
(1) s A

i) [Esel s

(i)  ([RBa Al

1 -1 0
(B) sl A=| .0 1 -1 |sdl

A &-{’1} A"“ — JA‘

@ ctio E |
5 ARFRUAL SISWRL AL wqm 10

(1) 519 s JRAAL 2*u l ﬂs eaye W2 At i 25 A Yt Bt 5 6.
S Rl A Bad 19 St dl 2ueueel 244 RRirueel 2R

3@1&%’1 [%'»{ct
xR'l?.-l 2

d

0 58 €1, dl olsnt szl ol et WAL,
¢ AL M U5 RAL OQd AHonel. |
Lg 1ol
% Al SR S8 2

Sl Rigict 22d 3 ?
201 2 3]2AB=[4 5 6], ALABUEL

(2

(3

(€
(7)

1 2 0

(3) Q,ﬂ‘*“[ -3 a3 & ilélmchm]-ﬂ[%ma&m. '
0 7 9

©) et AlRs wnenall

(10) élﬁw—u AU A4 ALECUS| AR

SK-101 2



SeatNo. 3. bt S o

SK-101

September-2020
B.Com., Sem.-VI]
CC-310 : Statistics — V1

l 50
Time : 2 Hours] [Max. Marks 33

Instruction :  Attempt any 1 two of the following four questions in Section L.

Section — I

1. (A) Write short note on :
(i) Maxi-min principle (i) Maxi-max princi
(ili) Hurwitz’s principle (iv) Laplace princi

(B) The cost price of an item is ¥ 6 and its selling g

be returned at ¥ 4 at the end of a day.

demand is as follows : 10

Demand 20 24
Probability | 0.1 04 | 0.1
Find Maximum EM

2. (A

(B)
and 68". Can the samples be regarded as dr
awn from the same populat
g pp ation of
10
3. (A) (i) Whatis game theory ? Give assumptions of the game
- 10

(if) Explain dominance property in game theory
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(B)  Solve the following game -

10
Player B
By By By By
Ay [T 2 77 gt gy
A
Player A A2 6 1 12 3
3 -3 2 0 6
AL 2 3 1 & .
&
(A) Explain the following terms with illustrations : - | 10
(1)  Unit Matrix
(1) Diagonal Matrix
(i11) Skew-symmetric Matrix
| I een
(BY If A= 0 ] —1 10
1 0 1

Prove that, A3 — 3A2 + 2A = 21

Answer any five from the fo : - 10

(1) For any problem
According to '

pessimistic ¢

decision theory ?
] 2 3]JandB=[4 5 6]find AB.

1 2 0
@8 IfA=| -3 5 4 |find|A]
' 0 7 ©

(9) Explain inverse of matrix.
(10) Explain the addition and subtraction of matrices.
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